
















































































































































































When a person faces north and walks 25m right then turns left and
walks 20m, and again turns right and walks 25m, and turns right, and
walks 25m, and turns right and walks 40m, in which direction is he now
from his starting point?

(@) North — West

(b) North — East

(c) @o’uth — East

(d) South — West










A man can walk by having long, medium and short steps. He can cover
60 meters by 100 long steps, 100 meters by 200 medium steps and 80
meters by 200 short steps, he walks taking 5000 long steps, then he
turns left and walk by taking 6000 medium steps. He then turns right

and walk by taking 2500 short steps. How far (|n meters) IS he away
from his starting point? \,\ — g ¥ ?

(a) G000 M= i RV
(b) 4000 m “ T_ s
(c) 6000 m =

(d) 7000 m @

\,,13___)\\5%5’&\:5—_50 v =) \&\dP:_(?\_;_)O .

MU 2 2vadipy= 100M \ &s\e\o -5 Sm

S\rm\r:) 21 5)“4}9._\: &0 m :\\&Q\xo'\\”





















































































































































































QUESTION

Sangeeta leaves from her home. She first walks 30 meters in north-
west direction and then 30m in south west direction, next she walks 30
metres in south-east direction. Finally she turns towards her house. In
which direction is she moving now?

(a) North - West
(b) (North - East
(c) South - East
(d) South - West













A man can walk by having long, medium and short steps. He can cover
60 meters by 100 long steps, 100 meters by 200 medium steps and 80
meters by 200 short steps, he walks taking 5000 long steps, then he
turns left and walk by taking 6000 medium steps. He then turns right

and walk by taking 2500 short steps. How far (|n meters) IS he away
from his starting point? \,\ — g ¥ ?

(a) G000 M= i RV
(b) 4000 m “ T_ s
(c) 6000 m =

(d) 7000 m @

\,,13___)\\5%5’&\:5—_50 v =) \&\dP:_(?\_;_)O .

MU 2 2vadipy= 100M \ &s\e\o -5 Sm

S\rm\r:) 21 5)“4}9._\: &0 m :\\&Q\xo'\\”















